
S

So = S - 150 (całkowita szerokość światła przejścia)

Sco

S
co

 +
 1

45

S
 -

 S
co

 -
 2

5

S - 130

S - 70

H

H
o 

=
 H

 -
 4

0 
(w

ys
ok

oś
ć
 ś

w
ia

tła
 p

rz
ej
ś
ci

a)

H
 +

 3
0

S + 6068.00

54



S

S + 60

S
co

 +
 1

45

Sco

S - 75

H

H
o 

=
 H

 -
 4

0 
(w

ys
ok

oś
ć
 ś

w
ia

tła
 p

rz
ej
ś
ci

a)

H
 +

 3
0

G 16.00

G + 25

G - 46

So = S - 150 (całkowita szerokość światła przejścia)

S - 130

S
 -

 S
co

 -
 2

5

54



S

S - 145

S - 20

S
co

 +
 1

35

91

H

H
o 

=
 H

 -
 8

0 
(w

ys
ok

oś
ć
 ś

w
ia

tła
 p

rz
ej
ś
ci

a)

H
 -

 1
0

Sco

So = S - 230 (całkowita szerokość światła przejścia)

S - 210

S
 -

 S
co

 -
 1

15

54


